
Question Answer

1

a)

b) 2
5 = 12 4

5 = 24
3
5 = 18 5

5 = 30
c) 30

2

a)

b) 2
3 = 16 3

3 = 24
c) 24

3

a) 20
b) 15
c) 30
d) 48
When the numerator is 1 then to find the whole you just multiply the denominator by 
the integer.

4

a) 10

It is half of 27
b)

c) 70 

5

a) 40
b) 45
c) 36
d) 54
The answer is the given number divided by the numerator and multiplied by the 
denominator. Alternatively, it is the number divided by the numerator and then added to 
the number.

6

a) 9
b) 64
They both involve the same numbers, but in part a) 24 is the whole and in part b) 24 is a 
part.
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8 400 ml

9 245

10

A = 450
B = 500
C = 1,200
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